
SKU 57 Renault Megane MK4 Fitting Instructions  

  
Tools you will need:  

• Combi Drill   

• 5mm-13mm HSS Drill Bits   

• 17mm and 19mm Spanner or Sockets   

• Hammer  

• Centre Punch   

• Stanley Knife (Optional)   

• Tape Measure   

• Marker Pen or Pencil   

• Allen Key Set 

• 13mm Socket 

 

In your fitting kit you will have:  

•  M8x 45 CAP HEAD X4  

• M8 HEX FL X4 

• M10 RIV NUT X2 

• M10X30X3 CUT WASHERS 

• M8X15 X2 

• M10 RIVET NUT TOOL 

 

  



1. Remove Foam under rear boot floor. These are bonded on and require a good pull. 

2. Remove the rear boot side carpets. And the upper plastic trims, 

3. Bottom Fixings use oem mounts from the luggage hooks, these need to be removed and use 

the current existing bolt to fix in the new brackets supplied. 

4. The top fixing requires drilling out an existing hole to 13mm and then to install riv nuts. As per 

video in our frequently asked questions. 

5. Install top brackets, with the m10 button head bolts supplied. 

6. Align the K-Brace into the brackets to make sure all alignment is fine with the holes in your K-

brace 

7. If alignment is fine tighten your brackets to the car. 

8. Now that the K-Brackets Are in Position, measure and cut the areas of carpet and trim that 

need to be removed.    

9. Install the carpet and trim ensuring your points of installation are adequately exposed.  

10. Finally, refit the K-Brace. Advise you enter through the driver’s side rear door as is easier to 

install as carpets differ on each side of the car.  

  

  

Any questions or additional information about the installation of your K-Brace please do not hesitate 

to contact us through our website.  

Thanks from everyone here at BAF Motorsport.   

 


